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ILIST

10
20
30
40
50
60
70
80

REM

REM

HOME : CLEAR

POKE 34,0

ONERR  GOTO 30

6OSUB 1140

GOSUB 1370

FOR LL = 1 TO 1000: NEXT : UTAB 10:
" WELCOME !!": NORMAL : SPEED= 255
GOSUB 1310
INVERSE
PRINT "
PRINT
NORMAL

CHINESE REMAINDER THEOREM

90
100
110
120
130
140
k"
150
"#%:1 NORMAL : PRINT " TO &"
140
170
Subolele
180
190
200
210
220
230
240
250
240
270
280
290
300
310
320
330
340
330
340
370
380
390
400
410
420 :
430
440
450

POKE 34,7

DIM M(280),R(280),A(280) ,B(280)
=1l =10

UTAB

FOR I =1 TO 280

PRINT " m";1;":";: INPUT ©
PRINT " p";1;":";: INPUT *
PRINT W = W + 1

Ml = VAL (M$):R1 = VAL (R$)
IF W = 279 THEN 90

IF M$ = "s" THEN HOME :W
IF R$ = "%" THEN HOME W

M(I) = M1:R(I) = RI

IF M1 < 3 INT M¢I)) OR M(I) ¢
IF RCID <> INT (R(ID) OR R(I) ¢
IF M(I) { = R{I) THEN 240

Y o= M) % Y:A(D) = MCDBCDD =
NEXT 1

"iMs
"iR$

W -1
W-1;

GET 5%

IF 8% = "Y" THEN HOME :
IF 8% = "N" THEN PRINT : GOTO 530
GOTO 380

FORI=1T0W
A$ = "m" + 8TR$ (1) 4 v=1
B$ = "r" + STR$ (D) + "=¢

PRINT -A$;M(1); SPC( 5);

UTAB 4: PRINT "0¢= rk < mk";: HTAB 24: PRINT "& TYPE aH

PRINT LR e B E VTR VIR YRR VY TS P Sy e rerie

R¢ID

HOME : PRINT " DO YOU REVISE DATA? (Y/N) :: "

HEFE LR R , RFET
LI BASIC A BERBARH , BHEAH
B, REEREm Ere, (i=1, 2
. n) AR , RAEHE TS
ATER, TERRE LR | EMmEE
o

HTAB 13: FLASH : SPEED= 120: PRINT

CHINESE REMAINDER THEOREM

VTAB 3: PRINT "mk be natural numbers"j: HTAB 24: PRINT "&dd&bbdlbdd

FLASH : PRINT

VTAB 5: HTAB 24: PRINT "& STOP INPUT &"
UTAB é: PRINT "KEY-IN mk & rk PLEASE "i1 HTAB 24: PRINT "&lbebbbbbbd

o rsrsrr s e rrrea )

: GOTO 370

60TO 370

0 THEN 240
0 THEN 240

= 13 GOTO 420
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470
480
490

500 Y =

510
520
530
540
550
560
570
580
590
600
610
620
430
440
650
660
670 D
480

- 470

700
710
720
730
740
730
740

770
780
790
800
810
820
830
840
850
840
870
880
890

900
910
920
930
940
750
940
970
980
990
1000
1010
1020
1030
1040
1050
1040
1070
1080
1090
1100
1110

15 MR PR

_INPUT "CORRECTION :: ";M2

PRINT B$;R(I); SPCC 5);

INPUT "CORRECTION :: "jH
MCD) = M2:R(D) =

MCI) % YiACD) = MCI)B(I) = R¢D)

PRINT
NEXT 1

HDME . UTAB 12: HTAB 10: PRINT "CALCULATING !

§=
5
p

S + 1

M{S):B = R(S)
RJI=1TOW

§ THEN 400
JiF = R(J): GOTO 610

— T
o in
X=X

I o

{nal
[=3 =l

s
o, |l

o m
o X

920
BS (B ~F) /N
{ > INT (G) THEN 740
{ W THEN 330
2 70 99999979999
FORL=1TOW
= M(L):E = R(L)
IF ABS ((V -E)) /D { » INT {ABS (V- E)/ D) THEN 740
NEXT L '
GOSUE 800
IF X =Y THEN 980
HOME : PRINT
SPEED= 130: PRINT : PRINT "LEAST SOLUTON ::";V: GOTO 770
NEXT ¥
HOME i
‘HOME : SPEED= 130: PRINT : PRINT " NO SOLUTION!!": SPEED=
2553: GOTO 780
PRINT : PRINT : PRINT "GENERAL SOLUTON & ";V;"+";X;"t": SPEED= 233
GOSUB 1480
END
T=1
ML) D = M(2)
MC1) = INT (MO1) / M(2)) % M(2)
IF U= 0. THEN 840
M(1) = M(2):M(2) =-U
GOTO 820
=C %D/ M2
=T+ 1
IF T =W THEN 210
MLy = MCT + 1):M(2) =X
GOTO 810
RETURN |
M=P: N Q
R = INT M7 N) #N
IF R = 0 THEN 970
M=HNiN=R.
GOTO 230
RETURN
PRINT
A=1K=0R=20
K=K+ 1:a=4a %A
F=1:0=1

o
T o e
(= s B s N ||
a
<
i}

]

[aml o]
n

X
.

+
HU
RJIJ=1TOUW
J = K THEN 1030
F % ALD)
T

-11
—Z — T
Hmmilmo il

* F - 1) / ACK) = INT ((0 % F - 1)/ ACK)) THEN 1090
0 ;

* F % B(K) "
THEN 1000

37
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1120 SPEED= 180: UTAB 15: PRINT "GENERAL SOLUTION 5 ";Rs"+";A3"t Ctiint
eger)"

1130 gPRINT "Least positive solution : "t(R+A% INT{-R/ A+ 1): SPEED=
255 . ‘

1140 GOSUB 1470

1150 END

1140 HOME

1170 FOR I = 18 TO 10 STEP - |

1180 7 = 1

1190 VTAB 10: HTAB 1 - 2 % T

1200 SPEED= 240

1210 PRINT "CHINESE REMAINDER THEOREM

1220 VTAB 12: HTAB I - 2 % T: PRINT BY HE-JING-KUD *

1230 NEXT

1240 PRINT CHR$ (7)

1250 FOR 00 = 1 TO 1000: NEXT : SPEED= 255: RETURN

1260 FOR I =24 TO 13 STEP - 1

1270 HTAB 1: VTAB I: CALL - 848

1280 VTAB (25 - I): cALL - 248

1290 FOR J = 1 70 5: NEXT : NEXT : CALL - 934

1300 RETURN

1310 REM '

1320 FOR I = 24 Tp 13 STEP - 1

1330 HTAB 1: UTAB I: CALL - 848

1340 VTAB (25 - 1): CALL - 848

1330 FOR J = 1 TO 130: NEXT : NEXT : CALL - 934

1360 RETURN

1370 REM

1380 HOME

1390 A$ = "CHINESE REMAINDER THEOREM"

1400 FOR I = 27 TO 3 STEP - 1§

1410 UTAB 2: HTAB 4 + |

1420 PRINT LEFT$ (A$,28 - 1)

1430 SPEED= 180

1440 NEXT

1450 SPEED= 255

1440 "RETURN

1470 PRINT
1480 PRINT : PRINT

- 1490 PRINT : PRINT TAB( 7)1 %% AGAIN?(Y / N) #x"
1500 GET S%

1510 IF 5% = "Y" THEN YY = 1: GOTO 1540

1320 IF S$ = "N" THFN 1590

1530 GOTO 1500

1540 FOR I =1 TO 12: POKE 35,1: CALL - 934: POKE 34,424 - 1)y CALL -
934: POKE 35,24: POKE 34,0: POKE 33,1: POKE 32,(1 - 1); CALL - 934:
POKE 32,040 - (2 % 1)): CALL - 7361 POKE 32,0: POKE 33,40: FOR D =
1 TO 25: NEXT

1550  NEXT

1560 IF YY = 1 THEN PRINT : VTAB 10: HTAB 15: PRINT "WATL T

1570 CLEAR : GOTO 90

1380 END

1390 FOR I =1 70 12: POKE 35,1: CALL - 934: POKE 34,424 - > CALL -
734: POKE 35,24: POKE 34,0: POKE 33,1: POKE 32,(1 - 1): CALL - 934:
POKE 32,¢40 - (2 % I)); CALL - 934: POKE 32,0: POKE 33,40: FOR D =
1 TO 60: NEXT

1400 HOME : UTAB 5: PRINT TABC 15)3"E N D !!»

1810 PRINT : CALL - 848: SPEED= 170

1620 FOR I = 38 70 1 STEP - 1 '

1630 HTAB I: PRINT "1"5: FLASH : PRINT " "$1 NORMAL : CALL - 848

1640 NEXT I: SPEED= 255: HTAB 2: PRINT " *;: UTAB PEEK (37)
1650 END
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s Rh K EfLAEE (ISR

B E oy ® 8 N i) BA
% RUN ‘*CHINESE RENHINDER;I; |
e 4 X THEOREM ' B T A me S AR
XCmk: natural no. )X
x Type -9 for stor XX (BbaER , HBFER)
inPut mk &rk X : gA— 9 BREIRA
INPUT mk & rk PLEASE ——
A (BRaE% , BHET)
BH(m , 7y )EP%Z{E‘?
3 3 &7 ﬁ%(ml,fl)qulzﬁ?
@ 2 (m2,r2)=7 B (my , 1y ) Fmy ZME?
@& 5 &7 BH(m , ro )dr, ZE?
& 3 (m3sr3)="7 BHE(ms , vy ) hmy ZfE?
g 7 &7 B (ma , 1o ) Th7s 2D
@ 2 WATT S| |
calculating ! | BHEAH )
gsen.solution 233+ 105t —R%fR © 233 + 105¢
(t:integer) , (t :%8)
1st posit.solution 23 B /NE B 23
AGATNT 7CY/ND | g (/%)
# N EIEETRE
# N

=
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ETbfexma B E

LWRAEE , AABZEN , AN\BZBE
s ZEBZBES , REDE?
B TRAz—

RUN

(m 1sr 10=C 6y 4 )

(m 2yr 2)=( 8y, 5 )

(m 3r D=( 3 2)
No solution !'!

LU, ANBZER , ARBZ N
 EABZES , REWH 2
Bl TRA=

RUN

S Ty T3=€ By 6 )
(m 25r 2)=( 6, 4 )
5, 3 )

(m 3:!’ 3):( ]
least sol: 118
g.s0l.: 118+ 1201

FHR R ERm A ERE , CIERR S
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HRTIRE o FEERFAR S RIRHGE —BGIA
 MERFHEFHGN , LHEECAT WE
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,EHERE .

BERHR

TEE: BBEREY , HERSERAT, K
T2,
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R hEREEE , AREEERH,
R 69
PR ~ B0 LRBEBHE, ACHEEE
RAT , K65F
AMRAEMEND . [ FERFGKER ] , B
BHEAT , B4TH . BET15F
438 : Apple [ BASICER R , NAE
KEZERERAR , B124F,
CASIO PB-700 EASY TRIP TO
BASIC
CASIO FP-200 OPERATION MANUAL
CASIO FP-200 Cs5-BASIC and
CETL REFERENCE
MANUAL
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